3F ATy

O MTEDEE (1)

K
#H Zd

gl

WKOFEELEL LD,

(1) 8X60=480

(3) 307X2=614

2] <HHLTEFELELL D,

=327Xx5x%x2
=327%x10
=3270

(1) 5X327X%X2

(2) 25X7X4 =7x25%4
=7%x100

=700

(3) 9X50 =9x6x%x10
=45 xXx10

=450

261X3=783

936X4=3744

5x327x20HETH, RLHIC101LH5HES
AIITET,

5x2 FELHIGHEL
10 [LThL0ZY0HERLET,

25x7x4 MOFETH BLHIT1001LhAHESR
#OITET,

25X 4EFLHIGHEAL, 100 [TLTHD
DY 0FFELET,




[ JehTidEseEsELr o,

(1) 24X3= (8% 3 |) X3=8X (| 8 |[X3) =8X| 9 |=72

(2) 24%Xx3=(20+4) X3=20|X3+ 4 |[X3=60 |+H 12|=72

A=

4] 15<5425M0BNPLEAS BRVELE, (B0 BT,

<> 425%x4=1700

( 17008 )

B 1L05308moMnabyEF. —OMOEDLI &3 Ly 5 HED, ms:
Z TR0 ET

<A > 308x3=921

( 924m )

6] 12225MO r—FR1RICAZFOA>TNET, ThE2HHS &, ez
< BTTH

<> 225x4x2=1800

( 1800H )



